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QUESTION 1

Which of the following should a technician verify FIRST before decommissioning and wiping a file server? 

A. The media destruction method 

B. The recycling policy 

C. Asset management documentation 

D. Non-utilization 

Correct Answer: C 

 

QUESTION 2

A technician is configuring a server that requires secure remote access. Which of the following ports should the
technician use? 

A. 21 

B. 22 

C. 23 

D. 443 

Correct Answer: B 

The technician should use port 22 to configure a server that requires secure remote access. Port 22 is the default port
for Secure Shell (SSH), which is a protocol that allows secure remote login and command execution over a network
connection using a command-line interface (CLI). SSH encrypts both the authentication and data transmission between
the client and the server, preventing eavesdropping, tampering, or spoofing. SSH can be used to perform various tasks
on a server remotely, such as configuration, administration, maintenance, troubleshooting, etc. 

 

QUESTION 3

Which of the following is the BEST action to perform before applying patches to one of the hosts in a high availability
cluster? 

A. Disable the heartbeat network. 

B. Fallback cluster services. 

C. Set the cluster to active-active. 

D. Failover all VMs. 

Correct Answer: D 

This is the best action to perform before applying patches to one of the hosts in a high availability cluster. A high
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availability cluster is a group of hosts that act like a single system and provide continuous uptime. A high availability
cluster is often used for load balancing, backup, and failover purposes. Failover is a process of transferring workloads
from one host to another in case of a failure or maintenance. By failing over all VMs (Virtual Machines) from the host
that needs to be patched to another host in the cluster, the technician can ensure that there is no downtime or data loss
during the patching process. Disabling the heartbeat network is not a good action to perform, as this would disrupt the
communication and synchronization between the hosts in the cluster. Fallback cluster services is not a valid term, but it
may refer to restoring cluster services after a failover, which is not relevant before applying patches. Setting the cluster
to active- active is not a good action to perform, as this would increase the load on both hosts and reduce redundancy. 

References: https://www.howtogeek.com/190014/virtualization-basics-understanding-techniques-and-fundamentals/
https://www.howtogeek.com/428483/what-is-end-to-end-encryption-and-why-does-it-matter/ 

 

QUESTION 4

An administrator is researching the upcoming licensing software requirements for an application that usually requires
very little technical support. Which of the following licensing models would be the LOWEST cost solution? 

A. Open-source 

B. Per CPU socket 

C. Per CPU core 

D. Enterprise agreement 

Correct Answer: A 

Open-source software is software that is freely available and can be modified and distributed by anyone. It usually
requires very little technical support and has no licensing fees. Therefore, it would be the lowest cost solution for an
application that does not need much support. 

References: https://www.comptia.org/training/resources/exam-objectives/comptia-server-sk0-005-exam-objectives
(Objective 2.3) 

 

QUESTION 5

A technician needs to provide a VM with high availability. Which of the following actions should the technician take to
complete this task as efficiently as possible? 

A. Take a snapshot of the original VM 

B. Clone the original VM 

C. Convert the original VM to use dynamic disks 

D. Perform a P2V of the original VM 

Correct Answer: B 

Cloning the original VM is the most efficient way to provide a VM with high availability. Cloning is the process of creating
an exact copy of a VM, including its configuration, operating system, applications, and data. A cloned VM can be used
as a backup or a replica of the original VM, and can be powered on and run independently. Cloning can be done quickly
and easily using vSphere tools or other third-party software. By cloning the original VM and placing it on a different host
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server or availability zone, the technician can ensure that if the original VM fails, the cloned VM can take over its role
and provide uninterrupted service to the users and applications. 

SK0-005 VCE Dumps SK0-005 Study Guide SK0-005 Braindumps

Powered by TCPDF (www.tcpdf.org)

SK0-005 VCE Dumps | SK0-005 Study Guide | SK0-005 Braindumps                                4 / 4

https://www.passapply.com/sk0-005.html
https://www.passapply.com/sk0-005.html
https://www.passapply.com/sk0-005.html
http://www.tcpdf.org
https://www.passapply.com/sk0-005.html
https://www.passapply.com/sk0-005.html
https://www.passapply.com/sk0-005.html

